Z6

2SB798 (3CG798)

fE PNP S {K=4RE/SILICON PNP TRANSISTOR

Hig: MBI Z5eK.
Purpose: Audio frequency power amplifier applications.
B MIRIR AR, BRIFAY hFE 26k, 5 2SD999 (3DG999) H 4.

Features: Low Ve, excellent hFE linearity, complements the 2SD999 (3DG999).

1% S 240 /Absolute maximum ratings (Ta=25°C)

SRR | Bl p—— —
Symbol Rating Unit IfH - ;-ia
Vero -30 V BI d g ‘1;: 5??0?'13
E 1.00+0, 2
Vero —25 v 1] off 3] E 2 W
Vo 5.0 | v el RS
G i
Le -1.0 A pasl N NS
ICP 71. 5 A [-m LI 1.5%%%
Pc 500 mW il
Pk 2.0 W glfl: 1:B 2:C 3:E
1, 150 € SOT-89
T —55~150 C
*:mounted on ceramic substrate (16cmm’X 0. 7mm)
#H T 16cmm’ X 0. Tmm [P % L,
ﬁiﬁfﬁ%%?éﬁ/Electrical characteristics (Ta=25°C)
B
TS Tt 25 Rating FALA,
Symbol Test condition B/ME | MBI | BOKME | Unit
Min Typ Max
ICBO VCB:_BOV IE:O _0. ]. 9 A
IHBO VEB:_5- OV IC:0 _0. ]. 9 A
hee Ve=1. 0V I=-100mA 90 200 400
HFE(Z) Vee=—1. OV Ic=1. 0A 50 100
Ve sav) I=1.0A 1,=—100mA -0. 25 -0.4 V
Ve (sat) Ic=1.0A Is=—100mA -1.0 -1.2 V
Ve Vee=—6. OV Ic=—10mA -600 -640 =700 mV
f: Vee=—6. OV Ie=—10mA 110 MHz
Cob VCB:_6. OV L;:O le OMHZ 36 pF
heeoy 084 EREHRIC/hey Classifications. Marking:
hee oy 2084/ heey Classifications M L K
heey Y0 /heey Range 90~180 135~270 200~400
1% /Marking HDM HDL} HDK
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